SCHOOL BOOKLIST



Mundaring Christian College - WA

Year 7 Booklist



Welcome to Box of Books

Box of Books has been chosen by your school to provide an all in one online ordering system for your child's digital and physical textbook supplies.

Ordering your child's school resources

Ordering via the BoB shop is quick and easy. It is important that you place your order online by no later than **Sunday, 8 December 2024** by following these steps:

- Visit https://shop.boxofbooks.com.au to create your parent/guardian account
- 2. Add each student, nominating their school and year group
- 3. Select the items you wish to purchase from the booklist shown
- 4. Use the checkout to organise postage and payment

Digital Delivery

Students with digital texts can access these without the need of an access code by signing into the Box of Books school portal using their standard school email login.

Your student's school portal can be found at: https://mundaringc-college.boxofbooks.io

Physical Delivery

Physical books will be shipped to your home address. Delivery can be tracked through your Box of Books account. To ensure you receive all available items please order by **Sunday, 8 December 2024**.

Delivery, Packaging & Handling

If your order includes physical resources or books you will be charged a flat charge of \$15.95 for delivery if you order before **Sunday**, **8 December 2024**. Any orders received after that date may incur a higher delivery fee. Digital only orders are shipping free!

Late Orders

We make every attempt to fully supply all physical orders; however, we cannot guarantee stock levels for orders placed after **Sunday, 8 December 2024**. Your order may be split into multiple deliveries.

Prices as at Wednesday, 13 November 2024

The prices provided are correct at the date of publication but are subject to change. Any changes to prices will be updated in the Box of Books Shop as they occur.

Refunds and Returns Policy

Our refunds and returns policy is available at: https://www.boxofbooks.io/returns

BOOKLIST INFORMATION Digital on BoB Physical Only & Digital on BoB & Physical Miscellaneous

Box of Books has partnered with Officeworks to provide a seamless experience for your textbook and stationery needs, enhanced by Officeworks' convenient back to school stationery solutions and guaranteed lowest prices.

How to Complete Your Order:

- 1. **Textbooks** Select the required textbooks through the Box of Books shop.
- 2. **Stationery** Select the required stationery items through the Officeworks Parent Portal. A link to the Officeworks Parent Portal will be provided when you complete your textbooks selection.

Notes for each subject below will guide you through the specific textbook and stationery requirements for your school.

Where available, Box of Books offers the option of "Digital on BoB & Physical" or the cheaper option of "Digital on BoB". When the school requires students to use a specific format, this is noted on the booklist. Where not indicated, students can select either option based on their preference.

Once purchased, the digital texts can be accessed by signing in to the student's Box of Books account. We strongly recommend students sign in to Box of Books before the start of school to ensure their textbooks and publisher interactives (e.g. online quizzes) are set up prior to the commencement of term.

Please click here for more information on accessing your digital resources.

To ensure you receive all available items in time for the commencement of the academic year, please order by **Sunday, 8th December 2024.**

BASKETBALL SPECIALIST (12 MTH ELECTIVE)	Digital on BoB	Digital on BoB & Physical	Physical Only & Miscellaneous
Parents to Supply:			

Whistle Plastic/Metal with Lanyard
Reversible Training Singlet (to be purchased at school) - \$25

FOOD TECHNIQUOCY (FLECTIVE)		Digital on BoB	Physical Only &
FOOD TECHNOLOGY (ELECTIVE)	Digital on BoB	& Physical	Miscellaneous

Parent to Supply:

- 1 x Plastic Food Container Purchase from any retailer
- 1 x Fork or Spoon to be brought to class to consume food Purchase from any retailer

HUMANITIES & SOCIAL SCIENCE (HASS)	Digital on BoB	Digital on BoB & Physical	Physical Only & Miscellaneous
Please choose either the Digital Only or the Digital & Print option.			
Big Ideas Humanities & Social Sciences 7 WA Curriculum Oxford University Press	\$41.32	\$59.69	

MEDIA PRODUCTION (ELECTIVE)	Digital on BoB	Digital on BoB & Physical	Physical Only & Miscellaneous
Parents to Supply: Headphones (Ontional) - Purchase from any retailer			

MOUNTAIN DIVING (FLECTIVE)		Digital on BoB Physical Onl		
MOUNTAIN BIKING (ELECTIVE)	Digital on BoB	& Physical	Miscellaneous	

Mandatory Equipment for Mountain Biking

- **Mountain Bike**: Suitable for offroad/trail use, in **good working order** with front and back brakes, off-road tyres, gears & bottle cage.
- Helmet: Must be in good condition, no more than 5 years old and meet Australian Standards (Code AS/NZS 2063).
- Gloves: Full-finger length only.
- Knee Pads: Designed for mountain biking.
- Water Bottle: A plastic sports bottle that fits in a bike bottle cage.

Alternatively, available from the College:

- Bike Hire: Available for \$90 per semester added to school account.
- PPE Hire (Helmet, Knee Pads & Gloves): Available for \$12 per semester added to school account...

SCIENCE	Digital on BoB	Digital on BoB & Physical	Physical Only & Miscellaneous
Optional Purchase: - For Home Use Only			
Students may choose between Digital & Print OR Digital only			
Pearson Science 7 Student Book Pearson	\$54.95	\$60.51	

TEXTILES (ELECTIVE)	Digital on BoB	Digital on BoB & Physical	Physical Only & Miscellaneous
Parents to Supply:			
Thread Snips Metal Budget 4" - Purchase from any retailer			
Quick Unpick SMALL - Purchase from any retailer			

Get ready for Back to School 2025 with Officeworks School List Service

We are delighted to announce that your school has chosen to partner with Officeworks for your 2025 booklist requirements.



Please scan the QR code to watch our <u>quick how-to video</u>, or follow the below steps to complete the booklist process for your student/s for 2025.

How to Order:

- 1. Go to the School List Service officeworks.com.au/booklist
- 2. Search and select your student's state, school and year level.



- **4.** Once you're ready, hit the "Add selected to cart" button. You can now add any extra items to your cart from the Officeworks website, such as lunchboxes or drink bottles.
- 5. Choose Home Delivery or Click & Collect.
- 6. Pay for your order.

We have flexible delivery and payment options to suit your needs.



Deliver to door, or pick up in store.

With home delivery and free Click & Collect you can pick the option that suits you.



You can buy now, pay later.

Officeworks offers a variety of payment methods for your convenience.



Additional information & key dates:

- The School List Service is available November 2024 2 February 2025.
- Place your order by 6 January 2025 to ensure delivery by Term 1.
- School List Service prices are available online only and not applicable in-store.
- Raise separate orders for each student's school list if separate packing is required, otherwise all ordered items will be consolidated.
- Direct any queries relating to Voluntary Contributions to your school.
- Orders >\$65 in metro locations are delivered free of charge. For full delivery terms and conditions please refer to <u>officeworks.com.au/delivery</u>
- If an item is not in stock when ordering, a substitute product will be offered.
- If an item becomes unavailable after ordering, it will be cancelled, and an email notification and refund will be issued.
- Visit <u>officeworks.com.au/contact-us</u> for any delivery/order related enquiry.



Shop with ease using Officeworks School List Service



Back to School, all sorted. officeworks.com.au/booklist

Mundaring Christian College			Year 7		
Code	Description	Qty	Essential	Unit Price (incl. GST)	Total Price (incl. GST)
*GENERAL STA	TIONERY				
JBHYBJ46AS	J.Burrows Chisel Highlighters Assorted 6 Pack	1	Yes	\$3.98	\$3.98
ST185C12	Staedtler Noris Coloured Pencils 12 Pack	1	Yes	\$2.40	\$2.40
KEMINISTAP	Keji Mini Stapler Black	1	Yes	\$1.24	\$1.24
KE2KSTP266	Keji 26/6 Staples 2000 Pack	1	Yes	\$1.08	\$1.08
PA182103	Artline Smoove Ballpoint Pen Blue	6	Yes	\$0.39	\$2.34
PA182101	Artline Smoove Ballpoint Pen Black	6	Yes	\$0.39	\$2.34
PA182102	Artline Smoove Ballpoint Pen Red	4	Yes	\$0.39	\$1.56
BO202118	Bostik Glu Stik 35g	1	Yes	\$1.60	\$1.60
SMGCHERLGE	Studymate Eraser Large	1	Yes	\$0.42	\$0.42
SM972259BE	Studymate Barrel 2 Hole Recycled Sharpener Blue	1	Yes	\$2.35	\$2.35
SM388470R	Studymate 10cm 180 Degree Protractor	1	Yes	\$0.50	\$0.50
PA8119430	Maped Study Compass Pencil Assorted	1	Yes	\$5.94	\$5.94
SM02850723	Studymate Twin Zip Pencil Case Blue Large Tartan	1	Yes	\$2.98	\$2.98
JB20110YW	J.Burrows Recycled Foolscap Document Wallet Yellow	10	Yes	\$2.00	\$20.00
PA8467010	Maped Greenlogic Scissors 17cm	1	Yes	\$2.26	\$2.26
AR105174	Artline Supreme Whiteboard Markers Bullet Assorted 4 Pack	1	Yes	\$5.50	\$5.50
ST110HBS	Staedtler Tradition Graphite Pencil HB	8	Yes	\$0.87	\$6.96
SMRUL30CL	Studymate Recycled Plastic Ruler 30cm Clear	1	Yes	\$0.75	\$0.75
FA554201	Faber-Castell Fibre Tip Colour Markers 12 Pack	1	Yes	\$3.00	\$3.00
DISONYIEBK	Sony E9LP Earphones Black	1	Yes	\$9.00	\$9.00
SDCZ5032GB	SanDisk 32GB Cruzer Blade USB Flash Drive Black	1	Yes	\$7.90	\$7.90
				Sub Total	\$84.10
BUSH RANGER	S (ELECTIVE)				
SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	1	Yes	\$0.99	\$0.99
				Sub Total	\$0.99
CLASSICS (ELE	ECTIVE)				

SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	1	Yes	\$0.99	\$0.99
				Sub Total	\$0.99
DIGITAL TECH	NOLOGIES				
SMPB8MM	Studymate 333x240mm 8mm Dotted Thirds Project Book 24 Page	1	Yes	\$2.90	\$2.90
SDCZ5032GB	SanDisk 32GB Cruzer Blade USB Flash Drive Black	1	Yes	\$7.90	\$7.90
				Sub Total	\$10.80
DRAMA (ELEC	ΓIVE)				
SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	2	Yes	\$0.99	\$1.98
				Sub Total	\$1.98
ENGLISH					
SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	2	Yes	\$0.99	\$1.98
JBRRFDB20N	J.Burrows Recycled Refillable Display Book 20 Pockets Navy	1	Yes	\$2.00	\$2.00
JBTAB264NN	J.Burrows Tabs 51x38mm Neon Assorted 4 Pack	1	Yes	\$4.86	\$4.86
				Sub Total	\$8.84
FOOD TECHNO	LOGY (ELECTIVE)				
BOSLE1002	Born Organic Cotton Apron	1	Yes	\$12.98	\$12.98
PA182101	Artline Smoove Ballpoint Pen Black	1	Yes	\$0.39	\$0.39
				Sub Total	\$13.37
HUMANITIES &	SOCIAL SCIENCE (HASS)				
SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	2	Yes	\$0.99	\$1.98
				Sub Total	\$1.98
LOTE - INDONE	SIAN				
SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	1	Yes	\$0.99	\$0.99
				Sub Total	\$0.99
MATERIALS DE	SIGN & TECHNOLOGY (ELECTIVE)				
SMPB8MM	Studymate 333x240mm 8mm Dotted Thirds Project Book 24 Page	1	Yes	\$2.90	\$2.90
				Sub Total	\$2.90
MATHEMATICS					
CAFX82NO2	Casio fx-82AU PLUS II 2nd Edition Scientific Calculator	1	Yes	\$34.97	\$34.97
SMGB1285MR	Studymate A4 70gsm 5mm Grid Book 128 Page	1	Yes	\$2.49	\$2.49
				Sub Total	\$37.46
MEDIA PRODU	CTION (ELECTIVE)				
SDCZ5032GB	SanDisk 32GB Cruzer Blade USB Flash Drive Black	1	Yes	\$7.90	\$7.90
				Sub Total	\$7.90
MUSIC (ELECT	VE)				
SMA4MB48	Studymate A4 70gsm 12 Stave Music Book 48 Page	1	Yes	\$1.99	\$1.99

ST102BOW	Staedtler Tradition Graphite Pencil 2B	1	Yes	\$0.87	\$0.87
				Sub Total	\$2.86
SCIENCE					
SMPEBA464R	Studymate Recycled A4 Exercise Book 64 Pages	2	Yes	\$0.99	\$1.98
SMMESHPCA4	Studymate A4 Mesh Pencil Case Clear	1	Yes	\$4.64	\$4.64
				Sub Total	\$6.62
TEXTILES (ELE	CTIVE)				
JBRRFDB40N	J.Burrows Recycled Refillable Display Book 40 Pockets Navy	2	Yes	\$4.95	\$9.90
SMPB8MM	Studymate 333x240mm 8mm Dotted Thirds Project Book 24 Page	1	Yes	\$2.90	\$2.90
				Sub Total	\$12.80
				Grand Total	\$194.58

Date: 15-Nov-2024